Kidney – key facts to remember

…………………………………………… is rapid filtration caused by …………………………… blood pressure.

The filtrate is blood ……………………………… minus large molecular mass ………………………………

In the ……………………………………… tubules reabsorption of most of the …………………………………… and selective reabsorption of all the …………………………………… and most of the ions takes place.

Reabsorption of ……………………………………… and ions is mainly by ………………………………………  ………………………………………

Differences in ……………………………………… of parts of the loop of …………………………………… result in a gradient of ……………………………………… ions developing in the tissue fluid of the ……………………………………………… , the highest concentration being towards the ……………………………………………

The importance of this high concentration of ions is that it is ……………………………………… to the filtrate and will cause reabsorption of …………………………………… from the filtrate.

The …………………………………… ADH ……………………………………… the permeability of the walls of the ………………………………… tubules and ……………………………………  ……………………………… , resulting in ……………………………………… reabsorption of water and …………………………………… urine.

ADH is secreted by the …………………………………  …………………………………………

Receptors in the ……………………………………… are sensitive to a …………………………………… in water potential of the blood, resulting in an increased secretion of ADH.

Urine consists mainly of excess …………………………………………… , excess …………………………………… and ………………………………………

